@
@

640 LC4 SUPERMOTO ORANGE 2003 <2003><EU><972630>
LIGHTING SYSTEM

NG
56024 S
RECHTSVERKEHR LINKS”\:;;::HR
RIGHT TRAFFIC LEFT TRAFFIC
Pos Part Number Description Additional Text Quantity
16 57111038000 BULB H4 12V 60/55W (P43T) USA 1.00
18 49011435000 BULB 12V 5W (W2,1X9,5D) 2.00
19 44111015100 BULB 12V 10W (BA15S) 4.00
22 58414030000 HH COLLAR NUT M10X1,25 WS=13 MINI ADV. 4.00
23 0797100003 LOCK WASHER DING6797-J10,5 ZI 4.00
24 0125100003 washer DIN 125 A 10.5 ONLY FOR 640 DUKE 4.00
25 58414025100 FLASHER CPL.FRONT L/S REAR R/S WHITE 2.00
26 58414026100 FLASHER CPL.FRONT R/S REAR L/S WHITE 2.00
28 58414028100 FLASHER LENS L/S & R/S 02 WHITE, ORANGE 4.00
32 58414040051 METAMOLL FOR REARLIGHT 99 15MM X 50MM X 5MM 2.00
40 58414040100 REAR LIGHT CPL. LC4 2001 1.00

1138



41 58414042000 BULB 12V 21/5W (BAY15S)REINFO. 1.00
42 41001052000 RUBBER SLEEVE D=12MM 3.00
43 58714048000 REAR LIGHT BUSHING 3.00
44 56509064100 Self locking nut M6 - 10 3.00
45 0985050003 Self locking nut DIN 985 M5 2.00
46 0021050003 washer DIN 9021 A-5.3 4.00
47 58414047000 LICENSE-PLATE ILLUMINATION '98 1.00
48 0021060003 Washer DIN9021-A 6.4 ONLY USA 3.00
50 58414001100 HEAD LIGHT CEV 547 RIGHT/S. H4 RHD 1.00
50 58414001200 HEAD LIGHT CEV 562 LEFT/S. H4 LHD 1.00
56 50211537000 RUBBER CAP 1.00
59~ 0014060203 HH COLLAR SCREW M 6X20 WS=8 2.00

* = New part




